

This is a self-archived version of an original article. This version may differ from the original in pagination and typographic details.

Author(s): Silvasti, Sanni; Kemp, Darrell J.; White, Thomas E.; Nokelainen, Ossi; Valkonen, Janne; Mappes, Johanna

Title: The flashy escape : support for dynamic flash coloration as anti-predator defence

Year: 2024

Version: Published version

Copyright: © 2024 the Authors

Rights: _{CC BY 4.0}

Rights url: https://creativecommons.org/licenses/by/4.0/

Please cite the original version:

Silvasti, S., Kemp, D. J., White, T. E., Nokelainen, O., Valkonen, J., & Mappes, J. (2024). The flashy escape : support for dynamic flash coloration as anti-predator defence. Biology Letters, 20, Article 20240303. https://doi.org/10.1098/rsbl.2024.0303

BIOLOGY LETTERS

royalsocietypublishing.org/journal/rsbl

(cc) BY

Research



Cite this article: Silvasti S, Kemp DJ, White TE, Nokelainen O, Valkonen J, Mappes J. 2024 The flashy escape: support for dynamic flash coloration as anti-predator defence. *Biol. Lett.* **20**: 20240303.

https://doi.org/10.1098/rsbl.2024.0303

Received: 19 December 2023 Accepted: 26 June 2024

Subject Category:

Animal behaviour

Subject Areas: behaviour, ecology, evolution

Keywords:

dynamic colour flashing, avian predator, touchscreen, flash illusion

Author for correspondence:

Sanni Silvasti e-mail: s.a.silvasti@gmail.com

Electronic supplementary material is available online at https://doi.org/10.6084/ m9.figshare.c.7366433.

THE ROYAL SOCIETY PUBLISHING

The flashy escape: support for dynamic flash coloration as anti-predator defence

Sanni Silvasti^{1,2}, Darrell J. Kemp¹, Thomas E. White³, Ossi Nokelainen², Janne Valkonen^{2,4} and Johanna Mappes⁵

¹School of Natural Sciences, Macquarie University, Sydney 2109, Australia

²Department of Biological and Environmental Science, University of Jyväskylä, Jyväskylä 40014, Finland ³School of Life and Environmental Sciences, The University of Sydney, Sydney 2106, Australia ⁴Janne Valkonen Research and Consulting, Vesanka 41940, Finland

⁵Organismal and Evolutionary Biology Research Programme, Faculty of Biological and Environmental Sciences, Helsinki University, Helsinki 00790, Finland

ISS, 0000-0003-2239-2191; DJK, 0000-0002-5845-5513; TEW, 0000-0002-3976-1734; ON, 0000-0002-0278-6698; JV, 0000-0002-2177-6612; JM, 0000-0002-1117-5629

Dynamic flash coloration is a type of antipredator coloration where intermittently appearing colour patterns in moving animals misdirect predator attacks by obscuring the precise location and trajectory of the moving prey. Birds and butterflies with differing dorsoventral wing coloration or iridescent surface structures may potentially benefit from such effects. However, we lack an understanding of what makes for an effective dynamic flash colour design and how much it benefits the carrier. Here, we test the effect of colour flashing using small passerine birds preying upon colourful, moving, virtual 'prey' stimuli on a touchscreen. We show that at fast speeds, green-to-blue flashing colour patterns can reduce the likelihood of pecks hitting the target, induce greater error in targeting accuracy and increase the number of pecks at a stimulus relative to similarly coloured non-flashing targets. Our results support the idea that dynamic flash coloration can deflect predatory attacks at fast speeds, but the effect may be the opposite when moving slowly.

1. Introduction

Many animals employ protective colour patterns as the first line of defence against predators [1]. Cryptic colour patterns, for example, can be highly effective in defeating detection and/or visual classification by predators. Mechanisms that facilitate crypsis such as disruptive coloration, countershading and background matching generally function best when an individual can remain stationary. This is because vision is particularly sensitive to motion [2-4], rendering many animals vulnerable while moving [1]. In response, adaptive evolution has occasionally favoured prey colour patterns that appear conspicuous when stationary yet exploit limitations in their predators' visual systems when in motion. This includes patterns comprising high-contrast stripes or other repeated elements [5-7] that elicit 'flicker-fusion' or 'motion dazzle' effects. Banded snake patterns [6-9], for example, afford protection by inducing motion blur or confusing a predator's perception of speed and trajectory. Another, more recently recognized, class of motion-based visual defences are dynamic 'flash colours' [10-13]. These colours intermittently flash or flicker while an animal moves and are hypothesized to deflect attacks by predators by confusing the precise location and trajectory of the moving prey (i.e. analogous to flash-lag illusions in humans) [14-16]. Hypothesized examples include the iridescent wings of morpho butterflies, the glossy cuticle of bottle flies, the contrasting dorsoventral wing colours of oystercatchers and the shimmering mirror-like scales of some fishes [10-12,17,18].

© 2024 The Authors. Published by the Royal Society under the terms of the Creative Commons Attribution License http://creativecommons.org/licenses/by/4.0/, which permits unrestricted use, provided the original author and source are credited.

The defensive potential of dynamic flash coloration has been tested only infrequently [10,11,17,19–22]. Murali *et al.*'s [10,17,19] efforts are the most extensive to date and have used humans 'preying upon' stimuli on touchscreens to identify several parameters that contribute to the effectiveness of defensive flash colours. Namely, the size and flash-rate of a stimulus, and its speed and trajectory of movement [10,19]. Prior to these efforts, Palleroni *et al.* [21] tested dynamic flash colorations in feral pigeons (*Columba livia*). The pigeons evade peregrine falcon (*Falco peregrinus*) attacks by rotating in flight and rolling out of the falcon's flight path while displaying differentially coloured rump and lower abdomen feathers sequentially at a fast pace [21]. They found that white-rumped pigeons are significantly more likely to survive attacks by the falcons compared with a phenotype with less contrasting rump feather coloration. Pike [11] tested the effect of touchscreen-simulated green-to-blue flashing iridescence of a bottle fly using Japanese quail (*Coturnix japonica*) as predators [11]. He found that, when compared with non-flashing stimuli, flashing induced greater targeting error and increased the number of attempts required to successfully peck the stimulus. Recently, Rao *et al.* [20] showed that interference coloration flashing in the wings of tephritid flies interrupts the visual tracking ability of predatory jumping spiders [20], and Henríquez-Piskulich *et al.* [22] showed that glossiness in a moving prey item can negatively affect the ability of praying mantids to track and accurately attack artificial prey [22].

Here, we primarily expand on Pike's [11] research on the functional purpose of dynamic flashing by testing the efficacy of intermittently displayed colours in moving prey as an antipredator defence against a wild omnivorous passerine. Our study tests the relationship between different stimulus speeds on the effect of dynamic flashing both in colour and luminance. We used a touchscreen-based behavioural assay with a prey stimulus that simulates a flying animal with contrasting dorsoventral wing coloration and tested how this type of dynamic colour flashing works at different speeds of prey movement. Although animals can use colour flashing in signalling while not moving around, in this experiment, we are specifically interested in how dynamically flashing colours affect tracking and catchability moving prey. We tested stimuli of three different colours (monochromatic green, light green and blue) and two mixed-colour forms in which each side of the stimulus was differently coloured (alternating green-to-light green or green-to-blue) to test whether intermitted displaying of different colour and/or brightness affects the bird's ability to catch the artificial prey. We predicted that colour flashing (i.e. display of alternating colours) should reduce catching success, decrease the likelihood of pecks hitting a stimulus, cause birds to have greater error distance in pecks towards targets and cause them to expend a greater number of pecks when attempting to catch the stimulus.

2. Methods

(a) Experimental design

We used wild Eurasian blue tits (*Cyanistes caeruleus*, n = 20) caught from the Konnevesi Field station area (62.6165 N, 26.3457 E), Central Finland, which we housed in individual aviaries with food and water provided ad libitum when not being trained or tested. The birds were released to the catching site after experimenting.

The custom-made Touchscreen Operant Chamber (TOC) was an aviary consisting of a plywood (90 × 90 × 100 cm) with a touchscreen mounted into the rear wall and a feeder placed underneath. There was a camera and window opposite the touchscreen for observation. To create a touchscreen capable of responding to a bird's beak and suitable for their visual system, we used a high-performance PC (Lenovo Legion T5 Ryzen 7 with 16 GB RTX 3070), and a high framerate gaming monitor (Asus ROG Swift PG329Q 32" at 175 Hz) coupled with an infrared frame (G6 Integration Kit Touch Frame 6TP 32", 250 fps maximum).

Prior to the behavioural assays, we trained birds to peck at dynamic (rotating, moving) virtual stimuli in three stages. First, we conditioned each individual to associate printed 2 cm dot stimuli with a food reward according to Silvasti *et al.* [23]. Second, birds learned to retrieve food from the remotely controlled feeder by pecking a dot situated on a grey cardboard background, after which the food reward was released. Finally, birds were habituated to peck at stimuli on a touchscreen in the TOC, introducing stimulus rotation and movement step by step. Training took 3–5 days and was considered completed when the birds had pecked each five rotating stimulus types on the touchscreen at least once when stationary and once when moving at varying speeds.

The stimuli are composed of two-dimensional, 20 mm flat disks which rotated horizontally around their own axis (like a paper-thin flipping coin) approximately 8 times per second. These were presented in five different colour treatments: green, light green, blue, green–light green (i.e. flash in luminance or 'brightness') and green–blue (i.e. flash in colour). The two dual-coloured stimuli were green on one side and blue or light green on the reverse side, and both contrasting sides appeared (flashed) with each rotation cycle. The rotating circular stimulus simulates laterally viewed wing beats of flying animals, such as birds, butterflies and others with relatively big and visible wings. The rotation frequency was inspired by a pierid butterfly wing flutter cycle recorded from a free-flying individual in glasshouse conditions.

Tests were conducted by presenting subjects with each of the five stimulus treatments sequentially in a randomized order. All stimulus types were first presented stationary and then at increasing speed in increments of *ca* 0.011 m s⁻¹, and all stimulus types were presented in each speed round (see electronic supplementary material, table S1 on testing speeds and the duration that stimuli were available for pecking at each speed in electronic supplementary materials). The stimuli moved linearly across the mid-grey screen, either from left to right or vice versa, during which the birds had an opportunity to peck the stimulus (video on a bird pecking a stimulus in Dryad). Notably, pecking prey from a screen is not a natural foraging condition for the birds, and the stimulus speeds reflect this limitation. Even the fastest tested speed in this experiment is much slower than insect flying speeds generally (e.g. refer to flight speeds of some Lepidoptera in [24]).

The area in which a peck was registered as a 'hit' was defined by a circle of 20 mm centred on the stimulus, which did not vary with the change in stimulus size according to rotation. If not caught, the stimulus would move outside the bounds of the

touchscreen, and if hit, the stimulus would disappear, and the bird would be rewarded from a remotely controlled feeder with a selection of mixed nuts and dried mealworms. If a bird failed at catching a stimulus, the same stimulus was spawned up to three times for the bird to attempt before being considered failed. Test concluded when the subject failed to catch any stimuli presented at a given speed. If the birds did not attempt to peck the offered stimulus, the same stimulus was repeated up to four times before it was considered refused.

Prior to testing, birds were food-deprived for 1 h to ensure motivation to forage. During experiments, we also gave the birds 30–40 min breaks when motivation appeared to lower.

(b) Statistical analyses

We used generalized linear mixed models (GLMMs) to test the effect of stimulus colour treatment and speed on: (i) catch success (whether the subject managed to successfully peck the stimulus in a presentation), (ii) the probability of hitting the stimulus (given the total number of pecks in a presentation), (iii) targeting error distance (the average distance of missed pecks from the stimulus), and (iv) the number of pecks at the stimulus. In all models, we specified stimulus treatment, speed and the treatment × speed interaction as fixed effects, and subject ID as a random effect. We modelled catch success and peck probability of hitting stimulus using a binomial distribution, targeting error using a gamma distribution and the number of pecks using Poisson distribution, with a logit-link function in binomial distribution and log link in gamma and Poisson distribution. On top of the GLMMs described here, we ran similar analyses for the outcome of the first peck at a stimulus and the number of pecks before a hit (outlined in the electronic supplementary material, section 'Additional analyses' and electronic supplementary material, table S3).

We analysed planned contrasts (i.e. a *priori* contrasts informed by theory that maintain higher statistical power than pairwise post hoc tests [25]) to see how different stimulus types fared in 0 speed, mid-speed (4.5 cm s⁻¹) and fast speed (9 cm s⁻¹). The contrasts were analysed using the model outcomes of the four GLMM (i)–(iv) described above and were designed to test the effect of colour and luminance flashing. The tested contrasts were (1) green versus blue as a test for the effect of colour, (2) green versus light green as a test for the effect of luminance, (3) green and blue versus green-to-blue alternating stimulus as a test for the effect of colour flashing and (4) green and light green versus green-to-light green alternating stimulus as a test for the effect of luminance flashing. The colour and luminance flashing stimuli were contrasted to the mean of the two colours consisting of the flashing stimuli. The results are explained in the electronic supplementary material, section 'Additional analyses' and the electronic supplementary material, table S2.

We visually affirmed GLMM assumptions and used the 'lme4' package (v. 1.1-34; [26]) for R (v. 2023.06.2; [27]) to estimate models, and the 'emmeans' package (v. 1.10.0; [28]) to analyse planned contrasts.

3. Results

Overall catch success (i.e. across all speeds) did not differ between the stimulus types (figure 1*a*, table 1), but there were differences in the amount of effort required to capture them. Per-peck probability of hitting the target stimulus varied between stimulus types and different test speeds; when the stimuli did not move, green-to-blue flashing stimulus type had the highest per-peck probability of being hit, while blue stimulus had the lowest per-peck probability of being hit (figure 1*b*, table 1). As stimulus speed increased, the probability of pecks hitting a stimulus decreased most rapidly for the green-blue stimulus (figure 1*b*, table 1), and pecks were significantly less likely to hit the green-to-blue flashing stimulus in fast speed when contrasted against green and blue non-flashing stimuli (electronic supplementary material, table S2). Targeting error also differed between stimulus types (figure 1*c*, table 1). With increasing speeds, green-blue flashing and light green stimulus types had larger missed peck distances compared with other stimuli. This is supported by planned contrast where light green stimulus had a significantly larger targeting error of green and blue non-flashing stimuli (electronic supplementary by planned contrast where light green stimulus had a significantly larger targeting error of green and blue non-flashing stimuli (electronic supplementary material, table 52). The number of pecks at stimuli varied, with green-to-blue flashing stimuli (electronic supplementary material, table 52). The number of pecks at stimuli varied, with green-to-blue flashing stimuli (electronic supplementary material, table 52). The number of pecks at stimuli varied, with green-to-blue flashing stimulus having the most pecks with increasing speeds followed by the green stimulus type (figure 1*d*, table 1).

4. Discussion

The potential for temporally dynamic colour patterns to act as antipredator defences while an animal moves has empirical support [10-13,17,19-21], but the breadth of such effects is still not fully understood. Here, we have used a touchscreen-based assay to demonstrate that coloration and colour flashing can influence how wild-caught birds localize moving dynamic visual targets. The most salient finding consisted of an interaction between stimulus speed and colour flashing. Whereas the green-toblue stimulus was relatively easiest to catch when stationary and at low speed (judged according to both per-peck probability of hit and targeting error; figure 1*b*,*c*, electronic supplementary material, table S2), capture ability decreased more steeply with increasing speed. At the highest speed, green-to-blue flashing stimulus had significantly lower per-peck probability of being hit compared with non-flashing green and blue stimuli (electronic supplementary material, table S2), elicited the largest targeting error compared with all stimulus types (figure 1*c*) and required the highest number of pecks for successful capture (figure 1*d*, electronic supplementary material, table S3).



Figure 1. The effect of stimulus colour and speed upon: (*a*) a subject's probability of successfully capturing (i.e. hitting) a stimulus during each trial, (*b*) the likelihood of any single peck hitting the stimulus, (*c*) the mean distance of missed pecks from the stimulus edge and (*d*) the number of pecks expended per-trial. Colour abbreviations are B = blue, G = green, G-B = green-blue, G-LG = green-light green and LG = light green.

Overall capture success across all speeds did not vary between stimulus types (figure 1*a*, table 1), most likely because test subjects had the opportunity to repeatedly peck at a stimulus as it traversed the touchscreen. This differs from natural predator–prey interactions, where a single failed predatory attack may often be enough to elicit escape behaviour. However, there were differences in likelihood of pecks hitting a target across stimuli, targeting error distances of missed pecks and number of pecks per stimulus type. When non-moving, the green–blue and green treatments were especially easy to hit, whereas the blue stimuli were particularly difficult (figure 1*b*, table 1, electronic supplementary material, table S2). With fast speeds, pecks were significantly less likely to hit the green–blue stimulus compared with the non-flashing green and blue stimuli on average (figure 1*b*, table 1, electronic supplementary material, table S2). The number of pecks also increases notably in the green–blue flashing and green stimulus types with fast speeds (figure 1*d*). When considered in concert with the large targeting error distances (figure 1*c*), we conclude that birds invested more effort in catching moving green–blue stimulus type as they kept trying to catch it despite it being difficult. Our findings are analogous to Pike's [11] result with Japanese quail having larger targeting errors and more pecks at green-to-blue flashing stimulu compared with non-flashing stimulus types.

Interestingly, the luminance flashing green-to-light green stimulus type did not seem to cause the birds more difficulties compared with other stimuli; perhaps the alternating colours did not have large enough luminance contrast to induce dynamic flash effects. Meanwhile, the light green stimulus caused birds to have large targeting errors in fast speed (figure 1b, table 1, electronic supplementary material, table S2), and the blue stimulus had the lowest per-peck probability of being hit while non-moving (table 1, electronic supplementary material, table S2). Several studies considering visual defences in motion have also shown that other than the hypothesized stimulus types can sometimes provide protection. For example, a mid-grey stimulus type often provides similar defence as motion dazzle and dynamic flash colorations against human predators on touchscreen-based tests [5,10,29,30]. We hypothesize that differently coloured targets may vary in catching difficulty in different situations, including a chance that signalling background and ambient light on top of speed of movement may affect how easily a moving prey is caught.

The stimulus rotation frequency and faster movement speeds that were used in this experiment may also affect how easily stimuli are hit. The rotation frequency used here was inspired by butterfly flight recorded in controlled conditions. However, if feeling threatened, the butterfly flutter cycle would likely become much faster. Birds will also face faster moving prey in nature than could be tested here, as pecking the touchscreen posed challenges. Murali [10] tested artificial prey stimuli on a touchscreen with humans using flash frequencies of 5, 10 and 15 Hz with several stimulus speeds [10]. He found that the highest flashing frequency caused larger targeting errors compared with the slower flashing stimuli, but much like in our experiment, there was no difference in the overall catching successes between the tested stimuli.

It is important to note that natural prey animal movement is generally erratic and unpredictable [31]. This so-called protean movement strategy serves an antipredator function [32], and empirical work has shown it to improve the efficacy of dynamic

Table 1. Results for the three generalized linear mixed models, where colour blue is the intercept on catch success, likelihood of pecks hitting target, missed peck error distance and number of pecks. Stimulus colours are abbreviated as: G = green, G-B = green-blue, G-LG = green-light green, LG = light green.

	estimate	standard error	z value	Pr(> z)
catch success				
intercept	4.044	0.718	5.630	1.80 × 10 ⁻⁸
G	1.373	1.185	1.159	0.247
G-B	0.547	1.036	0.528	0.598
G-LG	-1.178	0.856	-1.377	0.168
LG	0.828	1.082	0.766	0.444
speed	-1.187	0.211	-5.635	1.75 × 10 ^{−8}
G:speed	-0.179	0.324	-0.554	0.580
G-B:speed	-0.055	0.295	-0.186	0.853
G-LG:speed	0.424	0.250	1.697	0.090
LG:speed	-0.151	0.310	-0.486	0.627
likelihood of pecks hitting stimuli				
intercept	-0.924	0.220	-4.204	2.62 × 10 ^{−8}
G	0.970	0.301	3.219	0.001
G-B	1.957	0.353	5.541	3.01 × 10 ^{−8}
G-LG	0.246	0.292	0.843	0.399
LG	0.450	0.298	1.509	0.131
speed	-0.345	0.079	-4.396	1.10 × 10⁻⁵
G:speed	-0.217	0.119	-1.830	0.067
G-B:speed	-0.579	0.136	-4.257	2.07 × 10 ⁻⁵
G-LG:speed	-0.058	0.115	-0.502	0.616
LG:speed	-0.207	0.126	-1.641	0.101
missed peck error distance				
intercept	-0.0251	0.0948	-0.265	0.791
G	-0.0928	0.1170	-0.792	0.428
G-B	-0.3373	0.1305	-2.584	0.010
G-LG	-0.2339	0.1093	-2.140	0.032
LG	-0.3068	0.1069	-2.870	0.004
speed	0.0794	0.0208	3.808	0.000
G:speed	-0.0115	0.0338	-0.340	0.734
G-B : speed	0.0697	0.0348	2.004	0.045
G-LG:speed	0.0056	0.0334	0.167	0.867
LG:speed	0.0835	0.0331	2.521	0.012
number of pecks				
intercept	1.3570	0.1100	12.337	2 × 10 ⁻¹⁶
G	-0.4097	0.1192	-3.436	0.000
G-B	-0.6541	0.1225	-5.339	9.36 × 10 ⁻⁰⁸
G-LG	-0.0318	0.1107	-0.288	0.774
LG	0.0720	0.1085	0.664	0.507
speed	-0.0063	0.0261	-0.242	0.809
G:speed	0.1155	0.0370	3.122	0.002
G-B:speed	0.1969	0.0361	5.460	4.77 × 10 ⁻⁰⁸
G-LG:speed	0.0353	0.0355	0.994	0.320
LG:speed	0.0127	0.0356	0.356	0.722

Downloaded from https://royalsocietypublishing.org/ on 07 August 2024

5

royalsocietypublishing.org/journal/rsbl

Biol. Lett. 20: 20240303

flash coloration as it renders prey even more difficult to locate [19]. The additional difficulty imparted by naturalistic movement may broaden the gamut of potential colour pattern and flash designs for use as antipredator defences. Notably, birds found the task of pecking rotating stimuli difficult, leading us to adjust the hitbox to a constant circle even though stimulus area varied with rotation. This raises the standing question of whether, for example, dynamic shape changes associated with wing fluttering in insects with opaque and/or colourful wings impair a predators ability to track the location and trajectory of prey [12].

In this work, we found that dynamic flash coloration in fast moving prey can improve the chances of escaping capture by predators further supporting the idea that flashing can hamper the localization of moving objects. However, much like in other experiments on anti-predator coloration that function in motion [5,10,29,30], dynamic colour flashing does not grant equal protection in all movement speeds nor is it unique in the sense that similar protection may sometimes be achieved with uniform coloration. The attack deflecting effect is likely caused by flash illusions that arise when the visual system's predictive motion processing is impaired by unexpected features in the viewed scene [16]. The exact attributes of effective dynamic flash coloration for specific visual systems remain unresolved, as does the effect of variation in visual environments where the patterns are displayed. The future likely encompasses exciting new revelations regarding dynamic flash colour designs and their interactions with target visual systems and environments. We may also expect to acknowledge a variety of previously unrecognized dynamic flash effects in nature under different signalling contexts.

Ethics. This work was conducted in accordance with the Australian code for the care and use of animals for scientific purposes, and formally approved by both the Macquarie University Animal Ethics Committee (Animal Research Authority 2021/030) and the Central Finland Centre for Economic Development, Transport and Environment (permit no. 5901/2021). All birds were released into the area from which they were caught following testing and indicated no ill effects of handling, training or experimental testing.

Data accessibility. The data presented and analysed in this manuscript, and a video of a bird during a trial, are available in the Dryad Digital Repository [33].

Supplementary material is available online [34].

Declaration of Al use. We have not used AI-assisted technologies in creating this article.

Authors' contributions. S.S.: conceptualization, data curation, formal analysis, investigation, methodology, visualization, writing—original draft; D.J.K.: conceptualization, data curation, funding acquisition, methodology, supervision, validation, writing—review and editing; T.E.W.: conceptualization, data curation, funding acquisition, methodology, supervision, validation, visualization, writing—review and editing; O.N.: investigation, methodology, validation, writing—review and editing; J.W.: conceptualization, funding acquisition, methodology, project administration, resources, supervision, validation, writing—review and editing; J.M.: conceptualization, funding acquisition, methodology, project administration, resources, supervision, validation, writing—review and editing.

All authors gave final approval for publication and agreed to be held accountable for the work performed therein.

Conflict of interest declaration. We declare we have no competing interests.

Funding. Australian Research Council, Macquarie University, The Research Council of Finland.

Acknowledgements. We thank Riccardo Piva and Sofia Smiderle for helping with bird training, Helinä Nisu for taking good care of the birds and Konnevesi Research Station's technical staff for helping build the TOC. We thank Kalle Hytönen for programming the touchscreen game for bird testing and Jim McLean and Diogo Jackson de Aquino Silva for helping with statistical analyses.

References

- 1. Merilaita S, Scott-Samuel NE, Cuthill IC. 2017 How camouflage works. Phil. Trans. R. Soc. B 372, 20160341. (doi:10.1098/rstb.2016.0341)
- 2. Eckert MP, Zeil J. 2001 Towards an ecology of motion vision. In *Motion vision*, pp. 333–369. Berlin, Germany: Springer. (doi:10.1007/978-3-642-56550-2)
- 3. Pallus AC, Fleishman LJ, Castonguay PM. 2010 Modeling and measuring the visual detection of ecologically relevant motion by an *Anolis* lizard. *J. Comp. Physiol. A Neuroethol. Sens. Neural. Behav. Physiol.* **196**, 1–13. (doi:10.1007/s00359-009-0487-7)
- 4. Borst A, Helmstaedter M. 2015 Common circuit design in fly and mammalian motion vision. Nat. Neurosci. 18, 1067–1076. (doi:10.1038/nn.4050)
- 5. Stevens M, Yule DH, Ruxton GD. 2008 Dazzle coloration and prey movement. *Proc. R. Soc. B* **275**, 2639–2643. (doi:10.1098/rspb.2008.0877)
- 6. Pough FH. 1976 Multiple cryptic effects of crossbanded and ringed patterns of snakes. *Copeia* **1976**, 834–836. (doi:10.2307/1443481)
- Jackson JF, Ingram W III, Campbell HW. 1976 The dorsal pigmentation pattern of snakes as an antipredator strategy: a multivariate approach. Am. Nat. 110, 1029–1053. (doi:10. 1086/283125)
- Valkonen JK, Vakkila A, Pesari S, Tuominen L, Mappes J. 2020 Protective coloration of European vipers throughout the predation sequence. Anim. Behav. 164, 99–104. (doi:10.1016/j.anbehav.2020.04.005)
- 9. Brattstrom BH. 1955 The coral snake 'mimic' problem and protective coloration. Evolution. 9, 217–219. (doi:10.2307/2405591)
- 10. Murali G. 2018 Now you see me, now you don't: dynamic flash coloration as an antipredator strategy in motion. Anim. Behav. 142, 207–220. (doi:10.1016/j.anbehav.2018.06.017)
- 11. Pike TW. 2015 Interference coloration as an anti-predator defence. Biol. Lett. 11, 20150159. (doi:10.1098/rsbl.2015.0159)
- Young AM. 1971 Wing coloration and reflectance in morpho butterflies as related to reproductive behavior and escape from avian predators. *Oecologia* 7, 209–222. (doi:10.1007/ BF00345212)
- 13. Papageorgis C. 1975 Mimicry in Neotropical butterflies. Am. Sci. 63, 522–532. (http://www.jstor.org/stable/27845678)
- 14. Eagleman DM, Sejnowski TJ. 2007 Motion signals bias localization judgments: a unified explanation for the flash-lag, flash-drag, flash-jump, and Frohlich illusions. J. Vis. 7, 3. (doi: 10.1167/7.4.3)
- 15. Whitney D, Cavanagh P. 2000 Motion distorts visual space: shifting the perceived position of remote stationary objects. *Nat. Neurosci.* **3**, 954–959. (doi:10.1038/78878)
- 16. Hogendoorn H. 2020 Motion extrapolation in visual processing: lessons from 25 years of flash-lag debate. J. Neurosci. 40, 5698–5705. (doi:10.1523/JNEUROSCI.0275-20.2020)
- 17. Murali G, Kumari K, Kodandaramaiah U. 2019 Dynamic colour change and the confusion effect against predation. Sci. Rep. 9, 1–6. (doi:10.1038/s41598-018-36541-7)
- 18. DE L. Brooke M. 1998 Ecological factors influencing the occurrence of 'flash marks' in wading birds. Funct. Ecol. 12, 339–346. (doi:10.1046/j.1365-2435.1998.00204.x)
- Murali G, Kodandaramaiah U. 2020 Size and unpredictable movement together affect the effectiveness of dynamic flash coloration. Anim. Behav. 162, 87–93. (doi:10.1016/j. anbehav.2020.02.002)
- Rao D, Long SM, Tapia-McClung H, Salgado-Espinosa K, Narendra A, Aguilar-Arguello S, Robledo-Ospina L, Rodriguez-Morales D, Jakob EM. 2022 Visual signals in the wing display of a tephritid fly deter jumping spider attacks. J. Exp. Biol. 225, jeb244223. (doi:10.1242/jeb.244223)

royalsocietypublishing.org/journal/rsbl *Biol. Lett.* **20:** 20240303

7

- 21. Palleroni A, Miller CT, Hauser M, Marler P. 2005 Prey plumage adaptation against falcon attack. *Nature*. **434**, 973–974. (doi:10.1038/434973b)
- 22. Henríquez-Piskulich P, Stuart-Fox D, Elgar M, Marusic I, Franklin AM. 2023 Dazzled by shine: gloss as an antipredator strategy in fast moving prey. *Behav. Ecol.* **34**, 862–871. (doi:10. 1093/beheco/arad046)
- Silvasti SA, Valkonen JK, Nokelainen O. 2021 Behavioural thresholds of blue tit colour vision and the effect of background chromatic complexity. Vision Res. 182, 46–57. (doi:10.1016/j.visres.2020.11.013)
- 24. Dudley R, Srygley RB. 1994 Flight physiology of neotropical butterflies: allometry of airspeeds during natural free flight. J. Exp. Biol. 191, 125–139. (doi:10.1242/jeb.191.1.125)
- 25. Ruxton GD, Beauchamp G. 2008 Time for some a priori thinking about post hoc testing. Behav. Ecol. 19, 690–693. (doi:10.1093/beheco/arn020)
- 26. Bates D, Mächler M, Bolker B, Walker S. 2014 Fitting linear mixed-effects models using Lme4. arXiv preprint. (doi:10.18637/jss.v067.i01)
- 27. Team RStudio. 2020 RStudio: integrated development for R. Boston, MA: RStudio.
- 28. Lenth R. 2024 emmeans: Estimated marginal means, aka least-squares means. R package version 1.10.0. See https://CRAN.R-project.org/package=emmeans.
- 29. Stevens M, Searle WTL, Seymour JE, Marshall KL, Ruxton GD. 2011 Motion dazzle and camouflage as distinct anti-predator defenses. *BMC Biol.* 9, 1–11. (doi:10.1186/1741-7007-9-81)
- Hughes AE, Griffiths D, Troscianko J, Kelley LA. 2021 The evolution of patterning during movement in a large-scale citizen science game. Proc. R. Soc. B 288, 20202823. (doi:10.1098/ rspb.2020.2823)
- 31. Chai P, Srygley RB. 1990 Predation and the flight, morphology, and temperature of neotropical rain-forest butterflies. Am. Nat. 135, 748–765. (doi:10.1086/285072)
- 32. Humphries DA, Driver PM. 1970 Protean defence by prey animals. *Oecologia* 5, 285–302. (doi:10.1007/BF00815496)
- 33. Silvasti SA, Kemp DJ, White TE, Nokelainen O, Valkonen J, Mappes J. 2024 Data from: The flashy escape: support for dynamic flash coloration as anti-predator defence. Dryad Digital Repository. (doi:10.5061/dryad.41ns1rnmv)
- 34. Silvasti SA, Kemp D, White TE, Nokelainen O, Valkonen J, Mappes J. 2024 Data from: The flashy escape: support for dynamic flash colouration as anti-predator defence. Figshare. (doi:10.6084/m9.figshare.c.7366433)